Changing Energy for Chopping Talil

C.Y. Tan
27 Apr 2011



Energy Chopper

* Try to use limited energy acceptance of the
RFQ as the tail end chopper

* \WWhat voltage change at the source is needed to
utilize this?

« Urban legend has the acceptance of the RFQ at 1%
of design energy.

e |s this true?
e 2 simulations:

« 31.5keV (3.5kV switch, 10% lower energy)
o 25keV (28.5% lower energy)
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31.5keV (PARMILA)

FNALasBuilt DTL#1 57mA, by M.Popovic
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77% of particles will get through
Tank 1!
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25keV (PARMILA)

* Only 1% of particles get through to the end of
Tank 1



Conclusion

* 1% acceptance of RFQ is applicable if we want
> 99% transmission.

* 10% change in energy is insufficient for
chopping.

« At least 28% lower in energy is required for <
1% transmission at the end of Tank 1.
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